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NIREITE 868 ITFE 20184 10H148 &&=
HEE| A1 |HEFTEH|ITH| S8 BT (-2 | =84 [RS8 TS| BE [ BT | BM& | B | mB | =iR[KEK| ITE OPS
1 i 25 102 | 93| 7 19 8 0 1 27 1 1 1 0 7 21 | 2 | 0.301 | 0.766
2 FE 21 96 85 | 15 | 20 2 0 0 6 10 0 0 0 10 | 12| 8 | 0.259 | 0.619
3 il 26 108 | 93| 16 | 24 7 0 0 16 1 3 2 5 5 14 | 5 | 0.333 [ 0.799
6 NN 22 87 79 | 16 15 3 1 0 2 2 1 0 0 7 22 | 1 | 0.241 | 0.606
7 B 23 90 74 | 10 12 6 2 0 10 1 1 1 0 14 | 17| 1 | 0.270 | 0.787
8 |EHF =M 4 8 8 0 2 0 0 0 1 0 0 0 0 0 1 0 | 0.250 | 0.500
9 & 22 88 74 | 8 13 1 0 0 2 1 4 0 2 8 19 | 4 | 0.189 | 0.488
10 |B&% &X| 15 43 35| 3 6 2 0 0 4 0 3 0 1 4 7 2 | 0229 | 0.611
14 A% 14 39 34| 3 5 2 0 0 3 0 0 0 1 4 9 | 10 [ 0.206 | 0.572
17 = 28 118 [105] 15 [ 24 3 2 2 16 2 1 1 0 11 | 13| 2 | 0.295 | 0.778
21 XLt 14 39 35| 5 4 1 0 0 1 0 0 0 0 4 7 1 | 0.143 | 0.402
23 B 27 118 | 99 | 16 12 7 2 2 19 3 3 2 3 11 | 25| 2 | 0.232 | 0.726
25 B4t 28 120 [ 98 | 19 [ 24 8 1 1 19 1 1 1 0 20 | 12| 7 | 0.347 | 0.933
12 BEUS 1 2 1 0 0 0 0 0 0 0 1 0 0 0 0 1 | 0.000 [ 0.000
XRE B 3 9 9 1 1 1 0 0 3 0 0 0 0 0 1 0 | 0.222 | 0.556
27 = 6 20 18 | 4 5 0 0 0 1 0 0 0 1 1 3 1 | 0.278 | 0.628
1087 940 138 186 51 8 6 130 22 19 8 13 106 183 47
F—LITE  0.267
KRBT 246 F—L/RE 5049
KIRERBKA =24 28 =
E&S| 4n ERBU=VY B | 8 | t—J|E=R |E=RE| MEK | BBk |MEEERE|HRIT| k48 | BES |BE%E WHIP K/IBB |RE3k&E
11 INLUEH 19 89 4 5 0 63 6.37 24 5 2.93 86 50 43 4.35 1.292 2.625 | 136km/h
12 HE IR 19 |[49.667| 2 0 2 36 6.52 27 2 5.26 51 29 23 4.17 1.611 | 1.3333 | 131km/h
15 Fr i 11 12 0 0 0 5 3.75 2 3 3.75 10 4 3 2.25 1.250 2.5 |[120km/h
16 th At 8 13 2 0 0 4 2.77 8 0 5.54 8 6 4 2.77 1.231 0.5
19 i 12 [39.333| 2 6 0 10 2.29 15 1 3.66 63 52 32 7.32 2.136 | 0.6667 | 124km/h
27 = 12 [31.667| 1 4 0 23 6.54 19 0 5.40 47 37 30 8.53 2.084 | 1.2105 | 132km/h
28 Ll 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 | #DIVIO! | #DIV/O!
17 = 1 103333 0 0 0 0 0.00 0 0 0.00 1 0 0 0.00 3.000 | #DIV/O!
0 0 0 0 0 0 #DIV/IOI | O 0 | #DIV/IO!| © 0 0 #uat | #DIVIOU | #DIV/O!
82 235 11 15 2 141 95 11 4.06 271 178 135
F—LAEZE 5170
F—LKkmE 6817
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NKIREITE 496 iTFE 20184 10H148 &&=
HEE| A1 |HEFTEH|ITH| S8 BT (-2 | =84 [RS8 TS| BE [ BT | BM& | B | MB | =R[KEK| ITE OPS
1 i 13 57 52 | 3 8 4 0 1 14 0 1 1 0 3 15 | 1 | 0250 | 0.670
2 FE 12 56 49 | 10 | 15 2 0 0 4 5 0 0 0 7 7 6 | 0.347 | 0.816
3 il 14 55 44 | 9 12 3 0 0 11 1 1 1 5 4 8 1 | 0.341 | 0.854
6 NN 15 61 56 | 8 8 2 1 0 1 1 1 0 0 4 14 | 1 | 0.196 | 0.518
7 B 13 50 39| 6 4 3 1 0 3 0 0 0 0 11 | 10 | 1 | 0.205 | 0.713
8 |EH&% =M 3 5 5 0 1 0 0 0 0 0 0 0 0 0 1 0 | 0.200 | 0.400
9 & 11 45 36| 4 7 1 0 0 1 1 1 0 2 6 10| 1 | 0222 | 0.614
10 |B&% &X| 8 22 18| 0 3 0 0 0 2 0 1 0 0 3 4 2 | 0.167 | 0.452
14 A% 9 28 23| 2 5 2 0 0 3 0 0 0 1 4 5 7 | 0.304 | 0.820
17 = 16 68 58 | 10 9 2 1 2 11 0 1 0 0 9 8 2 | 0.241 | 0.757
21 XLt 13 35 31| 5 4 1 0 0 1 0 0 0 0 4 5 1 | 0.161 | 0.451
23 B 15 67 59 | 9 7 3 2 2 12 1 1 0 2 5 15 | 2 | 0237 | 0.776
25 B4t 16 68 54 | 12 | 13 4 1 1 10 1 1 0 0 13 6 5 | 0.352 | 0.996
12 BEUS 1 2 1 0 0 0 0 0 0 0 1 0 0 0 0 1 | 0.000 [ 0.000
XRE B 3 9 9 1 1 1 0 0 3 0 0 0 0 0 1 0 | 0.222 | 0.556
27 = 4 14 12| 4 3 0 0 0 0 0 0 0 1 1 3 1 | 0.250 [ 0.607
642 546 83 100 28 6 6 76 10 9 2 11 74 112 32
F—LITE  0.256
KRB _2T% 143 F—L/BRE 5224
KIRERBKA =0T 16 =
HEE&S| AR |[BREUH=-I B | & |t—J|E=F |E=1RFE| mBk | ek |[MIEREHE| L5 | BES [BHEHZE WHP K/BB
11 INLUEH 10 |[362/3] 0 2 0 30 7.36 8 2 2.45 39 18 16 3.93 1.336 3.8
12 HE 113 12 |30 2 0 1 22 6.60 13 1 4.20 29 15 12 3.60 1.433 | 1.6923
15 Fr i 11 |12 0 0 0 5 3.75 2 3 3.75 10 4 3 2.25 1.250 2.5
16 th# 8 13 2 0 0 4 2.77 8 0 5.54 8 6 4 2.77 1.231 0.5
19 i 7 19 1 2 0 5 2.37 6 1 3.32 30 26 17 8.05 1.947 0.8
27 = 10 (2613 1 4 0 20 6.84 18 0 6.15 40 34 28 9.57 2203 | 1.1111
28 Ll 0 0 0 0 0 0 #DIVIO!| O 0 |#DIVIOI| © 0 0 | #DIVIO! | #DIV/O!
17 = 1 1/3 0 0 0 0 0.00 0 0 0.00 1 0 0 0.00 3.000 | #DIV/O!
#DIV/O! #DIV/O! | #DIVIO! | #DIV/O!
59 137.33 6 8 1 86 5.64 55 7 4.06 157 103 80
F—LAEZE 5243
F—LKXRmE 6.750




20185%F A= Eg 12 £& 5 B 7 X
NIBEITE 372 TR 2018%10A6H M=
HEE| &A1 |HEF|TEH|ITH| S8 BT (-2 | =84 (A8 #Ta| BE [ BT | BM& | B | mB | =iR[KEK| ITE OPS
1 i 12 45 41 | 4 11 4 0 0 13 1 0 0 0 4 6 1 | 0.366 | 0.886
2 FE 9 40 36| 5 5 0 0 0 2 5 0 0 0 3 5 2 | 0139 | 0.344
3 il 12 53 49 | 7 12 4 0 0 5 0 2 1 0 1 6 4 | 0327 | 0.741
6 AL 7 26 23 | 8 7 1 0 0 1 1 0 0 0 3 8 0 | 0.348 | 0.814
7 B 10 40 35| 4 8 3 1 0 7 1 1 1 0 3 7 0 | 0.343 | 0.870
8 |E&F =M 1 3 3 0 1 0 0 0 1 0 0 0 0 0 0 0 | 0.333 | 0.667
9 & 11 43 38| 4 6 0 0 0 1 0 3 0 0 2 9 3 | 0158 | 0.358
10 |BEfHF &X| 7 21 17 | 3 3 2 0 0 2 0 2 0 1 1 3 0 | 0.294 | 0.780
14 e 5 11 11 | 1 0 0 0 0 0 0 0 0 0 0 4 3 | 0.000 | 0.000
17 = 12 50 47 | 5 15 1 1 0 5 2 0 1 0 2 5 0 | 0.362 | 0.806
21 XLt 1 4 4 0 0 0 0 0 0 0 0 0 0 0 2 0 | 0.000 | 0.000
23 B 12 51 40 | 7 5 4 0 0 7 2 2 2 1 6 10| 0 | 0.225 | 0.652
25 B4t 12 52 44 | 7 11 4 0 0 9 0 0 1 0 7 6 2 | 0.341 | 0.855
12 HEIF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
XRE B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
27 = 2 6 6 0 2 0 0 0 1 0 0 0 0 0 0 0 | 0.333 | 0.667
445 394 55 86 23 2 0 54 12 10 6 2 32 71 15
F—LITE  0.282
WEAA=_2T% 103 F—L/RE 4806
KIRERBKA =T 12 E]
E&S| 4n ERBU=VY B | 8 |t—J|E=R |E=RE| MEK | BBk |MEEBRE|HRIT| k8 | BES |BE%E  WHIP K/BB
11 INLUEH 9 521/3| 4 3 0 33 5.68 16 3 3.27 47 32 27 4.64 |1.2611465( 2.1
12 HE IR 7 192/3| 0 0 1 14 6.41 14 1 6.86 22 14 11 5.03 |1.8813559( 1.0
15 Fr i 0 0 0 0 0 0 #DIV/IO! | O 0 |#DIVIOI| O 0 0 | #DIVIO! | #DIV/O!
16 th At 0 0 0 0 0 0 #DIV/IO! | O 0 |#DIVIOI| © 0 0 | #DIVIO! | #DIV/O!
19 i 5 201/3| 1 4 0 5 2.21 9 0 3.98 38 26 15 6.64 |2.3114754| 0.5556
27 = 2 513 | 0 0 0 3 5.06 1 0 1.69 7 3 2 3.38 1.5 3.0
28 Ll 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 | #DIVIO! | #DIV/O!
17 = 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIVIOI| © 0 0 | #DIVIO! | #DIV/O!
#DIV/0! #DIV/0! | #DIVIO! | #DIV/O!
23 97667 5 7 1 55 5.07 40 4 4.05 114 75 55
F—LAEZE 5068
F—LKkmE 60911




4 #A 3B 18k FEOEMIRNMBERKRE F—RFE EIRRTEB
KIRERE 124 #1E

EES|  AH R ITEHR|ITH | B8 | BT |ZE24T| =84 |RXEMTS| EE | BT | MR | B | WER | =R| KK 1% OPS
1 i 4 16 14 | 1 3 2 0 0 8 0 0 0 0 2 1 0 | 0.357 | 0.938
2 F5 4 19 16 | 3 3 0 0 0 2 4 0 0 0 2 2 0 | 0.188 | 0.465
3 IR 4 19 17 | 3 5 1 0 0 2 0 0 1 0 1 3 2 | 0.353 | 0.780
6 8L 3 9 8 2 2 0 0 0 0 0 0 0 0 1 4 0 | 0250 | 0.583
7 B 4 17 14 | 2 3 2 1 0 4 0 1 1 0 1 3 0 | 0429 | 1.152
8 |E&F =M O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O!| #DIV/O!
9 & 4 15 13| 2 2 0 0 0 1 0 1 0 0 1 3 2 | 0154 | 0.368
10 |BH& &X| 2 6 3 1 0 0 0 0 0 0 1 0 1 1 0 0 | 0.000 | 0.400
14 e 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
17 = 4 18 17 | 2 8 0 1 0 3 0 0 1 0 0 1 0 | 0529 | 1.147
21 XE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
23 #FE 4 18 14 | 4 2 2 0 0 4 0 1 1 0 2 5 0 | 0.286 | 0.782
25 B &t 4 19 18 | 4 4 3 0 0 2 0 0 0 0 1 3 1 | 0.389 | 0.977
12 HEIF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
16 b4t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
27 = 1 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0.000 | 0.000

158 136 25 @ 32 10 2 0 26 4 4 4 1 12 25 5
F—LITE 0324
KRBT 35 F—LE/RE  6.429
KIRERBKA =Y 4 E]

EES|  AHI ERBUA=-VY B | 8 |t—J|EZR (|E=RSE| Mk | BBk |MEERE|HRIT| k8 | BES |BHEE] WHIP | BB | 855
11 INUE 3 192/3| 3 0 0 21 9.61 1 0 0.46 12 2 1 0.46 [0.6610169| 253 |133km/h
12 BEUS 1 713 ] 0 0 0 6 7.36 6 0 7.36 9 7 5 6.14 | 2.0454545| 154 |130km/h
15 FE 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #i#t | #DIV/O! 0
16 th At 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #i#t | #DIV/O! 0
19 i 1 3113 0 1 0 0 0.00 3 0 8.10 9 8 4 10.80 3.6 91 |124km/h
27 = 1 41/3 | 0 0 0 3 6.23 1 0 2.08 4 1 0 0.00 [1.1538462| 67 |127km/h
28 Sl 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #i#t | #DIV/O! 0

0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #u#t | #DIV/O! 0
0 0 0 0 0 0 #DIV/IOI | O 0 | #DIV/IO!| © 0 0 #u#t | #DIV/O! 0
6 34667 3 1 0 30 7.79 11 0 2.86 34 18 10 565
F—LAEZE 259
F—LKXRmE 4673




5 A& 3 [ 2 B FLOEBIIMBFERARE - —XRFE - ZRFE
KIRERE 155 {E
HEE| A1 |HEF|TEH|ITH| S8 BT (-2 | =84 (A8 #Ta| BE [ BIT | BM& | B | MB | =R[KK| ITE OPS
1 i 5 19 17 | 1 4 2 0 0 8 0 0 0 0 2 2 0 | 0.353 | 0.892
2 FE 5 23 19 | 4 4 0 0 0 2 5 0 0 0 3 3 2 | 0.211 | 0.529
3 IR 5 23 21 | 3 6 1 0 0 2 0 0 1 0 1 3 3 | 0.333 | 0.729
6 8L 3 9 8 2 2 0 0 0 0 0 0 0 0 1 4 0 | 0250 | 0.583
7 B 5 21 18| 2 4 2 1 0 4 0 1 1 0 1 4 0 | 0.389 | 1.011
8 |E&F =M O 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O!| #DIV/O!
9 & 5 18 15| 2 2 0 0 0 1 0 2 0 0 1 5 2 | 0133 | 0.321
10 |B&% &X| 3 10 7 1 0 0 0 0 0 0 1 0 1 1 2 0 | 0.000 | 0.222
14 e 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O!| #DIV/O!
17 = 5 22 21 | 2 9 0 1 0 3 0 0 1 0 0 2 0 | 0476 | 1.026
21 XE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
23 B 5 22 18 | 4 2 2 0 0 4 0 1 1 0 2 7 0 | 0222 | 0619
25 B # 5 23 22| 4 5 3 0 0 3 0 0 0 0 1 3 1 | 0.364 | 0.891
12 HEIF 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O! | #DIV/O!
16 b4t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | #DIV/O!| #DIV/O!
27 = 1 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 | 0.000 | 0.000
192 168 26 38 10 2 0 27 5 5 4 1 13 35 8
F—LITE  0.298
REA_208% 44 F—L/HRE 5318
MIRERBKA=2Y 5 E]
H&S| 4n ERBUA=VY B | 8 |t—J|EZR |E=RE| MK | BBk |WERE|HRIT| k8 | BES |BHEE] WHIP | &5 | 855
11 INLUE 4 252/3| 3 1 0 22 7.71 3 0 1.05 20 8 5 1.75 | 0.8961039( 364 |134km/h
12 BEUS 2 91/3 | 0 0 0 8 7.71 8 0 7.71 11 7 5 4.82 |2.0357143 184 |131km/h
15 FE 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #i#t | #DIV/O! 0
16 th At 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #i#t | #DIV/O! 0
19 i 1 3113 0 1 0 0 0.00 3 0 8.10 9 8 4 10.80 3.6 91 |124km/h
27 = 1 41/3 | 0 0 0 3 6.23 1 0 2.08 4 1 0 0.00 [1.1538462| 67 |127km/h
28 Ll 0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #i#t | #DIV/O! 0
0 0 0 0 0 0 #DIV/IO! | O 0 | #DIV/IO!| © 0 0 #u#t | #DIV/O! 0
0 0 0 0 0 0 #DIV/IOI | O 0 | #DIV/IO!| © 0 0 #u#t | #DIV/O! 0
8 42667 3 2 0 33 6.96 15 0 3.16 44 24 14 706
F—LAEZE 20953
F—L%XHE 5063




